


11,700

11,200
11,664 11,724 11,191 11,571 11,791 12,784
193 199 216 226 248 279




12,222

11,664

279

13,079

30



44 6 69,428

2.3 887,601,275 12.2
12,784 9.6
247 12.4
11,664
12,784 1,120 9.6
10,000 50 135
45 30,456
13,500 {72
213,079
13000 | = =« - TR
12,695 12,784
12,600 12587 . &
GA- il A---"T 0
12500 Fommmm oo el S
2@
212,222

12,000

11,500

11,000

10,500

TR18ERE THR19ER TR20FER TH21ER TR22F R TH234ER



e

96 0zl'L v8LCI GLT'109°L88 82169 6L¢ 99°L1L 9¥.'86€'16L 06829 €61 ER e e@H ET
(VG128 4 LeLvy v |6ley 008 LLL'L 9¢¢ € 99’6 1G¥'2G8'€S €866 Gg 2 S BE R R XL B I/
- - - - - — |LLL's 9€8'060°0¢ 68¢'cC b o B
— - - - — —  |eso's 8EY'201'6 250'1 8 GHDY | 520y T L B
€as v 0809V |616F 008'LLL'L 9¢¢ € 66601 LL1'6G9'VC te'e 9l e
09l v 688'L ¥ |6£6'6 866'608°101 eveol 6¢ 8¢8Il 8¥8'8¢8'ceL 861°19 8€1 ESERHEIHE - HY
90 Vv G6 Vv €6LY1 90v'¥82'cl 868 9 88871 ¥01°2€9°LS 89¥'c 143 L
o &
8'1e €16°1 8L29 00S'6€8°L €6¢ 1 6oLV GL9'69€E'G Lz1'1 14 WY
66l V¥ 810C v |obI'8 v€82ea'Gh ¥65°G Gl 8G1°01 6.£68G81¢€ y9g'Le VL L&
CHOY | ZEBIEE
8Ll 09G°1 9re0l ¢6¢'600°G¢e L1Y'T € 98L'8 9r6'GCl'L6 TLEDL ¢l Yy
66l Vv 6£6C ¥ |clSGL 99G°L¥1'91 170°1 14 1GY'81 GLT'1G8'16 8L6'Y 8l e
Y&
- - - - - — JeiLal 69¥'092'G91 6886 9l Wy
L'e LLY 60€'€l  |L16'6L9V8L  |6568S (v |eeset  |uwviLicen 690'1 0z W TR LT
(%) (& () (&) YY) [€=1=0) G (& (YY) (1)
k=1 e F=1=Rall[] ﬁ{”\%.—hﬁ Co F==Rall} Hﬂ{”\wﬁ.—uﬁ 0
%ﬁa'ﬁ NWE'JM MHEH_M NW@\*J.%MW“H JJGMWMH %MM WH.HW\HH_M @WJWHMM‘H JWHMM‘H ﬁ“m —_RM%MME
ETGi& 3HETH & FHF8L ¥k




5, O00M ki 47 16.9% 8,047 11.6%
5, 000ALLE10, OOOA Xk 88 31.5% 22,409 32.3%
10, 000A LI E15, OO0k 77 27.6% 19,355 27.9%
15, 000A LLE20, O0O0A Xk 32 11.5% 9,283 13.4%
20, O00M LI E25, O00M ki 17 6.1% 4,845 7.0%
25, 000M L E30, O00OM kK i# 11 3.9% 3,843 5.5%
30, 00O LLE 7 2.5% 1,646 2.3%
it 279 100.0% 69,428 100.0%




(@B Gk s — — — (I EEES - - (B E) ks —e—]

3582 352 ﬁ 3592 FIHaz IHve 4 IHee (FHB)IHTTHL .
T Ef BT EE T ) 000
LA TR EOEIFC
2 (%€'0+) Bi ks O W WED L L HHICNGFH6) " WAL Y THNYTHET “RI2\1L7) S04 (@
HYSLCIRIEVHE] oos 1T EH16L L)
: LTI et ATy itptpnd o= 11 -2 = T Le Ty 7
k0002 eosetl EOve't) ™ " T Hoe6d - — — — _ 2 4 .
Feataiaiaialale i %8V + |veH—ETH) | E000!
|
! FH00Y'Z
EH00b'2 | R
2B %S |+ I ) | .
l ! ®8¥+ GZH—VZH) k882’1
9ZH—EZH | e - o
| E000'e 25 |
| " | moooss
®8v+ peH—SZH 00| % Ct k6L0°E !
o@zs_ul _.H_On_-o.m EOON Wrm_ 4..........‘ mn_oom»m—
NEtE222CET 20 S (TR £
261 EFIF 8 et Hoog'el
WYFENETOEY 00V U .Emohm_ oL 1+)
2 (REHEHYC) . 2843714 1 E0007 )
MBS s o8| HOCYL 7 .- "tigogy)
e Eo0g'y |
koor'yl (E1Z
000G ] (38) (3}t E - T4E3) [LHg] || EHO00S










